G3-

3-Lesson 10

1. Label the array. Then, fill in the blanks to make the statements true.

g X 6=6xX8=_48

(6 x 5)=__ 30 6x __3 Yy=_18

\\

| can use the array to help me fill in the blanks.
The array shows 8 broken into 5 and 3.

The shaded part shows 6 x 5 = 30, and the
unshaded part shows 6 X 3 = 18. | can add the
preducts of the smaller arrays to find the total
for the entire array. 304 18 = 48, so

8 x 6 = 48. |
4

Bx6=6x0G+_3 )
=(6x5 +(6x_3)

= 30 +__18
=__48

The equations show the same work
that | just did with the array.

2. Break apart and distribute to solve 64 =+ 8,

64 - 8

(40 = 8) +{(_24 -+ 8)

By breaking 64 apartas 40 and 24,

g2 i can solve the easier division facts
40 + 8 and 24 = 8. Theén | can add
the quotients to solve 64 + 8,

1 can use a number bond instead of an array to
show how to break apart 64 = 8.
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3. Count by 8. Then, match each multiplication problem with its vajue.

8 .46 , 24 , 32 , 40

| counted 4 eights to getto 32, so |
can match 4 x 8 with 32.

| counted 2 eights to getto 16, so |
can match 2 X 8 with 16,

|
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